g <
I\ e Multiplicér decimaler med ti

Navn: Dato:___ Score:____
10,892 x 10 = 9,007 x 10000 =
8,019 x 100 = 2,594 x 10 =
7, 114 x 10000 = 2,402 x 10000 =
7,191 x 1000 = 9,415 x 10000 =
1,981 x 100 = 5, 889 x 1000 =
10,283 x 10 = 6, 234 x 100000 =
3,686 x 100 = 7,997 x 1000 =
10,935 x 10000 = 8, 176 x 1000 =
8,658 x 10000 = 6,405 x 10000 =
4,289 x 100000 = 6,567 x 1000 =
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Multiplicér decimaler med ti

Navn:

10,892 x 10 = 108.92

8,019 x 100 = 801.9

7, 114 x 10000 = 71140

7,191 x 1000 = 7191

1,981 x 100 = 198.1

10,283 x 10 = 102.83

3,686 x 100 = 368.6

10, 935 x 10000 = 109350

8,658 x 10000 = 86580

4,289 x 100000 = 428900

Dato: Score:

9, 007 x 10000 = 90070

2,594 x 10 = 25.94

2,402 x 10000 = 24020

9,415 x 10000 = 94150

5, 889 x 1000 = 5889

6, 234 x 100000 = 623400

7,997 x 1000 = 7997

8, 176 x 1000 = 8176

6,405 x 10000 = 64050

6,567 x 1000 = 6567
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